ISEG-UTL – Technical University of Lisbon - School  of Economics and Management
Industrial and Corporate Economics 

 01/07/2011

Duration: 2h30m   





Group A

(3,0) 1) The Common Agricultural Policy (CAP) of the European Union involves both tariffs/quotas over imports and subsidies to exports of agricultural products.

(1,0) a) What is the impact of those measures on the prices of agricultural products in the internal European market? Explain

(1,0) b) What would happen if, among those measures, subsidies to exports were eliminated? Explain.

(1,0) c) What would happen if, among those measures, tariffs and quotas over imports were eliminated? Explain.

(2,5) 2) Suppose that a monopolist company installed in one industry is subject to the entrance of a competitive fringe, and that this starts selling a fixed quantity of the product whatever the market price happens to be.

In this event, the monopolist will have the incentive to cut its own price. Why?

Group B

(3,0) 1) Bearing in mind the determinants of vertical integration, comment on the following assertion:

“Vertical integration is motivated by the desire to improve productive efficiency, not by the wish to increase market power.”
(3,0) 2) Comment on the following assertion: “Firms diversify their activities across different sectors of the economy, because that reduces the risk of their shareholders”.




Group C

(5,5) 1) Suppose that, in the long run:

i) Sony’s average cost of production and publicity of an LCD is equal to 1500€.

ii) The long-run profit-maximizing margin over Sony’s average production and publicity cost is equal to (1/3)%= 33.(3)%

iii) The average cost of distribution of a LCD borne by small retailers is 410€

iv) The average cost of distribution of a LCD borne by big retailers (Worten, Box, etc.) 100€.

v) The small retailers operate under monopolistic competition.

vi)  The big retailers form an oligopoly. In this market, the profit-maximizing price over the cost of acquisition of a Sony´s LCD is equal to 20%
vii) The market of the small retailers is completely separated from that of the big retailers.

(1,5) a) Which price does Worten charge its customers for a Sony LCD? Explain.

(2,5) b) If you were the price manager of Sony, how would you react to that price charged by Worten? Explain.

(1,5) c) Which price does a small retailer charge its customers for a Sony LCD? Explain.

(3,0) 2) Consider an industry composed by only four companies. In order to assess the level of market concentration, both Hirschman-Herfindhal and C2 Concentration Ratios were calculated:
	Hirschman-Herfindhal
	C2-Concentration Ratios

	0,345
	0,75


We know that the two companies with the lowest market shares have a market share of 10% and 15%, respectively.

What is the market share of the two other companies? Explain.

